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distance of 15 m from the base of the cliff, ‘ ¥ coml o
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(a) Determine the height of the cliff. (use g =10 m/ s?).
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(b) Determine the speed at which the car hits the ground. — / L
V—df . AF
T odt At
é,_dw"i . AV
T Ty
22, o = 12 R 2 __ .2 > V+ ¥,
F=r,+v,t+= 3¢ V=1v,+at Uy =V, + 20, Az Vay = 3
—b+ b2 —4gc
z= 5




[image: image2.png]O A Rk )y -H)wuh &regnt cdewnweds wf pder
Speed of 3m)s ,nd & vell. AJ Jb geme Nime e bkt

o melesddoun 4 Ab bithm oAt vl /5 reint <F s

specd oF dmfs. Dekrme ko Er b mcthis Alon wlon

;3 ik ‘T@_bgc/fw”_,(ywe g3 to M/JJ,)

, ) | Vo= +3m)s
rack
| 1’9 97 om/s?

th.'dof -

G srved
CAwN
Tk ek RIs

| & mekrs bobe |
Shraly, Yo biokd |

IQN\(/’AMV\

e e e RS

) C_'a/ A cer s P&,}w& pecr _a_ _c';-(‘[or\ an. ,f\(,)ré —”w" s ;)V\,L,/ 34,9 °
doennett b o ), Tle drier Jens tocor vn natesr

ard '!Ao.f,cr wlio W odye A e {/)e?d.g‘f) Qomfs.
TR e b a herzond gudne F e m Nom o foe sF Ko LA ]

a) Debrwve S h ‘f’}kjn\! H clff? (_‘ﬁf%j.:._Lamng,) e

‘;vu.‘ .’_/_va
én\x_kow =2186m i

bbb gt





